EARAROBREBRT —5 XN—ZXBISH—F 20235682268 (A) 3@fntE4E

EQ=  ETEE-sueasvsERRER SRR Bl
[AXE%) 1 %:1,800,000H ~ 23%&:720,000 9  337%&:450,000H . 43#&:270,000 M 5 & :180,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= 4 5 | HFEY 1:37.6 6-6-6-6 | 39.1| — 2 476 | EEEE (AGHE)
1|1 1] 7SAY . 540 5 Uy |
RFVYY/FEE BIFIUR RS
= ~ 4 5 | BO%E 1:37.8 3-3-3-3 [39.7| — 1 457 | MEEAN (ot8)
2\5|5| PUTLEVESY 4.0 o) e
RiIAYvehY B:LIJU TN e
o st 4 | AR 1:38.1 5-5-4-4 |39.9| — 3 454 | LWEBEX (#618)
388 AT . »4.0 (1172 () |EEBEA
RiRLTAY B:I7INVHAE—F FHRERS
S5 8 4 | EHREES 1:38.6 2-2-2-2 | 40.8| -— 4 45) | KEE=E ()
afll 7| NTT LRI _ 5.0 @1 (12 | AEET
RINTHYY L= B RUFILN—K it %488
FLFANVF i 4 giigéz 1:39.0 7-7-7-5 | 40.4| - 5 | 464 %gﬁgz\g (A18)
: (2 G
R:o07% 8§y bITEIRR @9 | g b
Fr2FwkRLZ it 6 ﬁs;t%éé% 1:(39).4 8-8-8-7 | 40.6| — 7 | 467 %E%g (Czzin)
. 2 = 2
R:F4—=TFANA B:7RIAVPRLUR (-7) Pu ]
FUVtEZRO—I— i 4 ?ZE(H)EE (1:39.7) 1-1-1-1 | 42.2| - 6 | 4% g%ﬂéi (RS
. 11/2 3
RO—IRAYAA G TUVERTSA K O |
S 1,7 ° 4 6 | RHS 1:41.8 4-4-5-8 | 43.4| - 8 | 435 |TE@mESh (HotE)
?.;_))bjis_)th‘_ o ~ 54.0 (544) (a) | @) LwoR
RFPAINT P — B:AY—KLUES BN e
@ 11— —BBIEfI
13—7F— 4,7,5,3,8,1,2,6
20—F— 4,7,5,3,8,1,2,6
30—7— 4,7,5,8,3,1,2,6
43—F— 4,7,5,8,2,1,6,3
o ILRE
B B 1 30| [ DA R 1-5 240M4 B E 1-5 680M4 3EE 1-5-8 1,040
7B B 1 130 1-8 3504 =51 =5 1,530 3EH 1-5-8 5,220
5 130M4 5-8 360/
8 1804

ABIC OV TRUTEREERRODDZE. THRIIZEL.




